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QUESTION NO: 1 
 

Which product feature is a major selling point of the Cisco MDS 9000 Series SSM?
 

A. Serveless backups

B. Modular Cisco IOS Software

C. Product interoperability

D. Wide variety of add-on cards
 

Answer: A

 

 

QUESTION NO: 2 
 

Which three improvements are benefits of the Cisco Intelligent information network? (Choose

three.)
 

A. Decreased Cost

B. Reduced complexity

C. Automated resource allocation

D. Decreased integration effort
 

Answer: A,B,D

 

 

QUESTION NO: 3 
 

Which budget area has been the traditional driving force in data center deployments?
 

A. Power and power backups

B. Capital Expenditures

C. Cooling

D. Operational Expenditures
 

Answer: B

 

 

QUESTION NO: 4 
 

What is the primary reason for using optical networking in the data center?
 

A. Video Streaming and Video Conferencing

B. Backup Internet Connectivity

C. Business continuance

D. High-speed Internet Access
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Answer: C

 

 

QUESTION NO: 5 
 

Which groups in the data center are the chief drivers for goals such as productivity, agility and

resilience?
 

A. Information security groups

B. Infrastructure groups

C. Networking groups

D. Business and architecture groups
 

Answer: D

 

 

QUESTION NO: 6 
 

Which two components fall within the Cisco SONA framework application services? (Choose two.)
 

A. Application optimization

B. Cisco VFrame

C. Layer 0 infrastructure

D. Cisco AON Software

E. Application delivery
 

Answer: D,E

 

 

QUESTION NO: 7 
 

What provides an end-to-end solution for data center technologies?
 

A. Service-Oriented Data Center

B. Server Load Balancing

C. IIN

D. Global Site selection
 

Answer: A

 

 

QUESTION NO: 8 
 

Which storage technology groups arrays of disks to increase throughput, reliability or both?
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A. iSCSI

B. RAID

C. Fibre Channel

D. SCSI
 

Answer: B

 

 

QUESTION NO: 9 
 

Which technology allows for high availability and a modular application platform?
 

A. Optimization

B. NAM

C. SAN

D. Virtualization
 

Answer: D

 

 

QUESTION NO: 10 
 

A particular data center consists of the following:

 

Routers

Nonmodular Cisco Catalyst switches

Cisco PIX Firewalls

Cisco CSS 11506 Content Services switches

 

Which two products will ease the introduction of a new application? (Choose two.)
 

A. Cisco MDS 9148 Multilayer switch

B. Cisco Application Control Engine

C. Cisco Wide Area Application Engine

D. Cisco ASA 5505 Adaptive Security Appliance

E. Cisco Application Velocity System
 

Answer: B,E

 

 

QUESTION NO: 11 
 

Which statement is the key advantage of Cisco Catalyst blade switches?
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